A e
M QUMY HdMNEHEY PEH(+=SLNE/HENE - S FSIIEH)

S HZlotn ot N B WS MHAH=E (e &
SN BB S(BH) - MBAY - BaS ggi) @(ijf;ﬁ% HRE2
mE-—gnis 32,465,105 23,515,717 8,949,388

= 952,015
Fag 2,050,000
== 1,863,730
Al 27,599, 360
QIAFHNO WANNSHEY R (5L WS/HELUS 30,537,866 22,360,494 8,177,372
E2FSIIE})
= 952,015
Fag 2,050,000
== 1,863,730
Al 25,672,121
Heldtn AN HEWsE MA=E 29,572,955 22,228,552 7,344,403
= 952,015
Fas 2,050,000
& 1,863,730
Al 24,707,210
HANSSS &2 QU2HHY X 3,000 3,000 0
307 QIz2to| & 3,000 3,000 0
02 CIZtEAMAIEE =X 3,000 3,000 0
= 0l & 3,000 3,000 0
O NSES & ENFA NS
3,000,000& 1 JH 2 Al 3,000
249 RIIEZS X3 14,002,000 13,002,000 1,000,000
203 Y= 2,000 2,000 0
03 AIHF=XNSHR=XH| 2,000 2,000 0
= 0ff & 2,000 2,000 0
OUZLNSHAH &8 g2FX
2,000,000& x 14! 2,000
307 QIz2tol & 14,000,000 13,000, 000 1,000,000
09 2xLAHEXS 14,000, 000 13,000,000 1,000,000
= 0l & 14,000,000 13,000, 000 1,000,000
O24g%H SFEHN AdsEX2(32,8Al,
HA) 1,166,666,666& 124 & 14,000,000
AMUHA 228tEs 248X 4,745,000 3,814,000 931,000
307 212t0l A 4,745,000 3,814,000 931,000
09 Sx=gHEXZS 4,745,000 3,814,000 931,000
= 0ff A 4,745,000 3,814,000 931,000
OANUHA R8s &4A8X
300,000,000& ~12& 3,600,000
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SN

M QAFAO HADSHY PH(+SYWE/HSDE - 2R SIIE)
CHol: B2IStD S EO (IZDS MIAHHE (St &8
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES (Z= o) (713 o) HnsZ
OANUBIA Hlxded a8
78,333,333 122 940, 000
OZSSMI0AAIUHA 2 caRX
17,083,3332 « 122 205,000
AUHA SHXd 2 22 HE XS 4,792,000 3,477,134 1,314,866
=2 300,000
< 1,780,000
Al 2,712,000
201 Yste | 12,000 5,000 7,000
01 A2l 12,000 5,000 7,000
=0 4 12,000 5,000 7,000
OOFEEAl 0122 M= 1,000,0008 128 12,000
307 ©I2+0lH 4,780,000 3,472,134 1,307,866
=2 300,000
= 1,780,000
Al 2,700,000
09 S+UHEEZ 4,780,000 3,472,134 1,307,866
= 300,000
< 1,780,000
Al 2,700,000
=0 4 4,780,000 3,472,134 1,307,866
=2 300,000
< 1,780,000
Al 2,700,000
ON+BHZHSHEATI X
10,000, 000! 23 20,000
ONUBA HRLs caRX
50,000,0002 + 122 600,000
OZAE IS2Y IZF HAKE MY
50,000, 0008 * 122 600, 000
= 300,000
Al 300,000
OHASHMY WEXEH
296,666,6002 * 122 3,560,000
= 1,780,000
Al 1,780,000
DEANE HAHA P 274,920 91,494 183,426
= 137,460
= 68,730
Al 68,730




AN BSH
3 o2E4o

MOl HEDSHE P (4+ELDNS/HELS
ool BelstD SEHO (IEDS M (B9 @2
x s . O &t o8 & & 0] Ak o -
SA B S(BH) - MEMY - BES iz T BlRE2
307 9120l H 274,920 91,494 183,426
2 137,460
= 68,730
Al 68,730
09 24YUHEx3 274,920 91,494 183,426
2 137,460
= 68,730
Al 68,730
=0 & 274,920 91,494 183,426
2 137,460
= 68,730
Al 68,730
ODEAX HAHA 7 91,640,0002! 3CH 274,920
2 137,460
= 68,730
Al 68,730
DEAX OISHS K 1,295,600 1,058,000 237,600
203 YLEYI 2,000 2,000 0
03 AHEFYLEZY| 2,000 2,000 0
= 0l & 2,000 2,000 0
OSEDE4LH Y = Y2
2,000, 0008 *14] 2,000
307 gI2kolE 1,293,600 1,056,000 237,600
05 QI2Ietz 993,600 768,000 225,600
=0 4t 993,600 768,000 225,600
OFOHQ 2N 2QHl N
4,600,0002! * 122 +18TH 993,600
300,000 288,000 12,000
300,000 288,000 2,000
BN
1,000,000 2504 * 122 300,000
518,765 365,924 152,841
438,765 324,429 114,336
438,765 324,429 114,336
438,765 324,429 114,336
5,7002 122 *1,191CH 81,465
442 N
25,0002 %122 *1, 191CH 357,300
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SN

FM: QIAZHO WANEHEY FEH(+SLWE/HEWNE - SFSIIEH)
Chel: Helstn tE R sns MA=E (e &
SH-EH. (AN NRANY - B o) ) HDE2
401 Al&HI 20| 80,000 0 80,000
01 Al&HI 80,000 0 80,000
= 0l & 80,000 0 80,000
OSA S8 SRAAY 75
80,000,000 *14] 80,000
HHMAX = XJAS 123,600 417,000 A 293,400
= 61,800
Al 61,800
402 QU2tX=201H 123,600 417,000 A 293,400
= 61,800
Al 61,800
02 QUAT2AILEZ(0IETHA) 123,600 417,000 A 293,400
= 61,800
Al 61,800
= 0l & 123,600 417,000 A 293,400
= 61,800
Al 61,800
OFHrE A &2 AtY 400,000 »309CH 123,600
= 61,800
Al 61,800
AMUHHA 2 XA 400,000 0 400,000
307  glztol A 400,000 0 400,000
09 2xdAHEXZ 400,000 0 400,000
= 0l & 400,000 0 400,000
OANUBHA WsSIHte Z2H =2 &
33,333,300& «12& 400,000
st SEXNDX AL 2,000,000 0 2,000,000
s 2,000,000
401 AI&BIZ =208 2,000,000 0 2,000,000
= 2,000,000
01 Al&UI 2,000,000 0 2,000,000
s 2,000,000
= 0l & 2,000,000 0 2,000,000
= 2,000,000
O=&Al M2at2Xtsxt SEXNDX =24
2,000,000,0003 14| 2,000,000
Fas 2,000,000
BHAl SEAAMN & 224 155,972 0 155,972

- 632 -




SN

g T8 E-E8SIIH)
&l S HA (e @
A - HEAS i) a%%goht;% H D=2t
= 51,986
Al 103,986
25,972 0 25,972
= 12,986
Al 12,986
25,972 0 25,972
= 12,986
Al 12,986
25,972 0 25,972
= 12,986
Al 12,986
020198 M4Xt HAIESS
25,972,000 * 14! 25,972
= 12,986
Al 12,986
EtB N = 130,000 0 130,000
= 39,000
Al 91,000
= 130,000 0 130,000
= 39,000
Al 91,000
130,000 0 130,000
= 39,000
Al 91,000
& 13,000,000 «10CH 130,000
= 39,000
Al 91,000
Nsg DSHAUTS) RS At 1,000,000 0 1,000,000
= 400,000
Al 600,000
AEBIXL 28I 1,000,000 0 1,000,000
= 400,000
Al 600,000
1,000,000 0 1,000,000
= 400,000
Al 600,000
= 0l & 1,000,000 0 1,000,000
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SN

FM: QIAZHO WANEHEY FEH(+SLWE/HEWNE - SFSIIEH)
Chel: Helstn tE R sns MA=E (e &
SH-EH. (AN NRANY - B (o) ) HDE2
= 400,000
Al 600,000
OXsg WsSHH ASAY
1,000,000, 0003 %14 1,000,000
= 400,000
Al 600,000
OI=EAl 2 260,560 260,560
s 50,000
= 15,000
Al 195,560
307  gIztol A 260,560 260,560
s 50,000
= 15,000
Al 195,560
09 2+9AHEXZ 260,560 260,560
fns 50,000
= 15,000
Al 195,560
= 0ff & 260,560 260,560
fas 50,000
= 15,000
Al 195,560
OOt=8Al 2ZF 21,713,300& «12& 260,560
= 50,000
& 15,000
Al 195,560
HAWAEHDOE SHEIoM0e EXEH + 1,538 1,538
= 769
Al 769
307  gIztol A 1,538 1,538
= 769
Al 769
09 2xdAHEXZ 1,538 1,538
= 769
Al 769
= 0l & 1,538 1,538
= 769
Al 769
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M NS
HH: QAEANO MSANEHY FSH(2SLUE/HENS - SFRSIIEHY
thel: BH2lotn tEEQ HEwsS MAEE (e &
. i - aroy 144 & 0f & o .
SA BB (3AH) - HRAY - BA= by S HDE 2
25 o (1=o)
OHAGAUEHDIE 28 EIt0et EXIEH|
AN A 769,000 =2CH 1,538
= 769
Al 769
WEANE 528 2Y 50,620 48,160 2,460
AAUNEMH T 29 1,620 1,260 360
202  Oidl 1,620 1,260 360
01 =AYl 1,620 1,260 360
= 0ff &F 1,620 1,260 360
OAZ 39 ¢ us &4, HXONY S
60,000& *3Y *93| 1,620
CEMY =4 22,000 46,900 A 24,900
201  etI| 22,000 16,900 5,100
01 AP 22t 22,000 16,900 5,100
= 0l & 22,000 16,900 5,100
Ol EEMENY 2Z ZAsE
50,000& *4003] 20,000
OEE HEH 2g0 HE H&S +<
200,000& x103| 2,000
=8 F3X 0ls8 =H=3t0 et X 27,000 0 27,000
401 Al&HIZ 20U 27,000 0 27,000
01 AI&EHI 27,000 0 27,000
= 0l & 27,000 0 27,000
O=2g=&Xx 0lsg =3ttt &
27,000,000 = 1CH 27,000
Helol ns3d 29 41,255 48,140 A 6,885
Helol n=es3d 288 29 41,255 48,140 A 6,885
201 LBt 49H| 24,957 28,091 AN3,134
01 AFR22lYl 8,578 11,418 A2,840
= 0ff &F 8,578 11,418 A2,840
ONEol ns3d MREE 72
40,000& *103] 400
OQussd FALEE2 72 15,0003 85 *43| 480
OQussd #JIs88 ¢ 194,000& *33| 582
OREZ 8FY FM8E 7Y
110,000& » 103 1,100
Ouszs2 293 HA(30m)
300,000& 23| 600
Ouszd s22(2&3 S) Mz
1,500& *1,00004 1,500
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25N NS
FM: QIAZHO WANEHEY FEH(+SLWE/HEWNE - SFSIIEH)
ce AR B BEFNE =4 ¢ XH (cte ®
% 5 I Ol &M & E & 0ff A oH —
SN JH .2 (3) - MEMNY - BES (FE o) (1= o) Hwns2
—JlE= 66,800 x5 «21 «82 56,112
- =524 66,800 x5 »34! 11,356
—=304H3 67,468,000 4. 5% 3,037
— 22 67,468,000 *3. 12% 2,106
- NE2 67,468,000 *1.5% 1,013
—&MHEE 67,468,0002 *8/1,000 540
— &I RILE 2,106,000 *7.38% 156
401 Al&HIZ 20U 753,780 0 753,780
01 AI&EHI 750,000 0 750,000
= 0l & 750,000 0 750,000
oltg sg=x& =4
150,000, 0002 * 1JH A 150,000
ORLESZFINE 23 AL &5
100,000, 000& *6IH 4~ 600,000
03 AlI&=0HYI 3,780 0 3,780
= 0l &F 3,780 0 3,780
OFXE T4 AIZ=20Ubl 3,780,000 *14] 3,780
HY2AHH (nS)(IEH/IIE 223,311 199,763 23,548
o5 29Il 140,287 125,872 14,415
ol 2E | 140,287 125,872 14,415
101 o244l 140,287 125,872 14,415
01 2= 128,826 111,521 17,305
= 0l & 128,826 111,521 17,305
OANZ2Z22ag
10,299 x30H 30 Al 2t 128 111,230
OZFHMZ3HE Al M Al2t2RE(
) 10 299 x24H x4 A| 28 7,910
OZHHMEH sLd22aE
82,7863 x1Z 117 9,686
02 JIEtAE % 11,461 14,351 A 2,890
= 0l & 11,461 14,351 A2,890
OANZ2t222+Y9 8,812&x1H*30Al 2tx12& 3,173
Oussd gd2z2s+4
70,8362 x1H *117 8,288
Jl23&dtl 83,024 73,891 9,133
Jl23l 83,024 73,891 9,133
201  et2g| 4,844 3,211 1,633
01 At2R2e2ldl 4,844 3,211 1,633
= 0l & 4,844 3,211 1,633
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25N NS
= HER2GFU (S H)(OIEH/IIEH)
el D= (&9
% = E Ol Ao &\ 0] A —
SN -3 .42 (3H) - HEMNY - BES (FE o) (1= o) Hnsz
OJlIe AMNMREEHI 30,0003 *30 900
O2RANE28 28 =24l 93,4703 *30% 2,805
OMEBR4A 29HIE 7 227,800 *53] 1,139
202 Ol 72,000 64,800 7,200
01 =2LHOA Y 72,000 64,800 7,200
20) & 72,000 64,800 7,200
OJlggesd 2l 20l
20,0003 *308 102 x12& 72,000
203 YR F=&XY| 6,180 5,880 300
04 BEN2IEIRFAYI 6,180 5,880 300
=20f &t 6,180 5,880 300
OFANMEg 22284l 515,000& = 12& 6,180
NRES(DEW)(2sLWNE/HEZSWE - 2F5SIIE 1,703,928 955,460 748,468
WEAHAHX = 1,703,928 955,460 748,468
LHE HeH 1,703,928 955,460 748,468
701 DJIEISIHSHEEZ 1,703,928 955,460 748,468
01 JIEtSIHEEZ2 1,703,928 955,460 748,468
= 0ff &F 1,703,928 955,460 748,468
OMAMN 2 TAXNGE Letg|H 8=
a2 s 1,703,928,000& 1,703,928
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